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(d} ]
if ‘ZERO’ js writ '-n*-"._*:. _
PLAYER written 75
) SODBGT . iy |
@ SODBHT RS l'“ ents together, are

(d) gHDBHU

Consider the follow® R o lRR s aro mot sufficient to
1. Aisoldert N ’ e
2  (CandD are of

3. Eis the younge

i Fis youngers B whieh 15 difforent from the
5 Fisolder th

How many 8t __‘
required to f'.
personpersons ?
(a) ol
(b}

lel

(d)

Scanned with CamScanner

el



ant agenda of the

the world to ensure
financing.

b ]S

T

rellecls :
implicatiOTEees

rl-l'}“l.:zé : ¥l : i ﬁﬂl& fi ¥
h H""*M_ "::-.I. 1! '_ " b Ty i

pmbiﬁﬁ'

ovidence-base (0 International capital markets ensure
cffoctivea " {hat the firms maintain good corporate
ek ,.'& hﬂaW' X & g 'YE ,'L'I_L: {

those dri
tests, )
(dl  In the absen
problems '_
administratios
decigions.

(d) Good corporate governance paves the
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: Passage - 3
Elephants | are landscape archi 18. If p,q, r and » are distinet sing! digt P of
sating clearings in the forest s i numbors, then what'in the grea® g
R owth of \ preventing | (pegirsa?
s certain plant species and allowing | @ 280
. for the regeneration of others, which in turn ) 225
ide sustenance to other herbivorous animals. L (), 224
jphants eat  plants, fruits and  seeds SRRNRNI) - 221
yagating the seeds when they defecate in other s
soos as they travel, Elephant dung provides 1 " A number N is formed b writing ”.rm
pi.rishment to plants and animals and acts as & - " 90 times What is the ainder .5 a
oding ground for insects. In times of drought, | ‘divided by 137
v access water by digging holes which benefits | a
Lor wildlife. : . ﬂj; a
. a9
Which one of the following statements best| o B
reflects the most logical and rational inference | @, 9
{hat can be drawn from the passage ? |
(n) The home range nfheilg?hnnt-ﬂ nﬂadlmb&m Each digit of a 9.digit numbeT 15 !l *’:
o vast area of rich iversity. multiplied by itself. What is the sum of th
) Elephants are the keystone species and digits of the resulting number ?
they benefit the biodiversity. | (a) 64
4 3l '
(¢} Rich bindivarsit?‘mn“t be "‘“‘““’?"{4’- (b) 80
in the forests without the presence OF L (e Bl
elephants. o 100

(dy Elephants
is with 8 ocies @b Pper _
E?irlmenl : What is the sum of all digits which appear 11
all the integers from 10 to 100
{f?&aﬂ&}]ﬂ:ﬁ,ﬁ{%l]&iﬁi}:ﬁ. [ﬁj 555
nneliell= 13, what 18 the value of ) 856
e 2 -
il 4‘ o (¢) 910
) 35 @ o
(b) 8
(¢ 13 ABCD is a square. One point o0 each of AB
(d) 15 ! 1 ~ and CD; and two distinct points o0 each of BC
{ How many distinct
. " p < f and DA are chosen. How mMan.
Let x be 8 positive integer U " ”;_"‘:5; N & as can be drawn using any three points
divisible by - How many values 0 Y “ﬁrﬁceﬁnﬂtﬂfthﬂﬂﬂ six points
possible ? o 16
(a) 10 =i 3
b 11 o
[ L ..: g 4y U‘{'] 20
¢! 12 L '-‘ .". [d} 2‘
@ Infinitely many "
-{ |r:':
- B
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I emissions humans putl nto! the

“UBRBISTS now will affect the' clifmate . the
middle of the century and onwards. Tech solagitel
change, meanwhile, could make o Bikise
LRMtion: away, fiom fossil fusls cheap o it
m not, leaving the world with a terrible
choice between sharply roducing emissions st
huge cost or suffering through the effects of
““_’mﬂd warming. Businesses that do not hedge
against the threat of uncertain outeomes fail, The
world cannot afford such recklessness on climate
change.

reduce environmental or
this idea appears almost im
With enviranmental problems,
can be perceived as having a ne

yet, barring n few, there ms te

21. Which one of the following statements best
reflocts the crucial message conveyed by the
author of the passage ?
(a) Businesses that cause emissions may
need to close down or pay for pollution in
future. (b}
(b) The only solution is technological
development related to the issues of
climate change. o
(¢) Waiting to deal with carbon emissions
until technology improves is not & wise
strategy. | 2
(d) Since future technological change 18
uncertain, NEW industries ghould be
based on renewable energy SOUrces.
(13-8)
XDTG-S-DNK '

Scanned with CamScanner



Passage - 3 24.

Many people are not eating the right food.
For some, it is simply a decision to stick with food
thgy-njoybntwhichhnﬂtqnmthy.%is is
leading to an increase in non-communicable
diseases, This in turn leads to major burden on
mdmﬂﬂuommhmwhwhwh-l
for the poor to improve their lives. For others, it
i= about limited access to WM&#M

{a) 1and2only '_'-'.1.'!.'-
(b) 2and3only g .
=i %
"{¢) 1land3only 1 !l.}‘
id 1,2and3 "Rr X

Threw of the five positive integ®
ure even and two of thems
necessarily in order). Congider’

L peaqer-s-t isdefinit
2. 2peq+2r-2s+t isdd

Which of the above statemen

fa)  1only

(b)  2only

(¢} Both1and2

id) Neither 1 nor 2

Consider the following in nect

number p and composite numb

1. 2% canbeeven.

p—£ ‘
2. 2p+ccanhnndd(-"
3. 'pecan be odd.

Which of the mtm
correct 7

'
A 3-digit number ABC, on mu .+.,
D gives 37DD where A, B, €
different non-zero digits. What is thy
A+B+C? ' * I
(a) 18 y

(b
(e

(d)
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97. For any choices of values of X, Y and Z, the
fdigit number of the form XYZXYZ is

divisible by :
{a) T7and11only
(% 11 and 13 only

(¢} 7and 13 only
) 7.11and13

o
28, tgﬁmhcnl cubes are arranged in the form of
*l cubical block. How many cubes are

J P:mmdod by other cubes from each side 7

iy distinct 8-digit numbers can be
- rearranging the digits of the
3344 such that odd digits occupy
. and even digits occupy even

Directions for the following 3 (0TS
Read the following three passales ,I
items that follow the pussoges, Youes
tteme ”I”HHM barsed on he piotss i

‘assage - 1

We often hear about
different States in India over ri
20 major river systems, |
water-stressed; T5% of the pop
water-stressed regions, a third 3
water-scarce areas. Climate chang
of rising population and the neﬁd
to keep pace, and increased rate ¢
and industrialization will exae
stress. According to the Constitut
water is a State subject and not
Union, except for regulation of inter
Key to ensuring balance hetwm
demands of various stakeholders is ab
approach to allocate water amongst }
regions and States. Allocating fair sk

to them requires assessments based @
criteria, such as specificities of the "
size of dependent population, existing
and demand, efficiency of use, proje
use, ete. while ensuring the environmenta
of the river and aguifers.

ol 31. Which one of the follos staten
 C working independently can do a piece reflects the most rational, p
rk in 8, 16 and 12 days respectively. A immediate action reguired to ensu
alone works on Monday, B alone works on equitable allocation of water
a ;
Ma? C alone works on Wednesday, A S‘Hheh"ld"? :
‘ alone, again works on Thursday and so on. (a) A ﬂﬂhﬂn::- l?raamltit, 1
~ Consider the following statements : fbuiﬂmm: or water al
" 1. The work will be finished on Thursday. 6 Kl v s e .
2. The work will be finished in 10 days. be linked and huge aquife
- Which tatements is/are correct ? (c) Water channels betwe 4
. of the above s S S |
(a) 1only deficit should be created. !
' ®) 2 only (d) To mitigate water crisis, v |
(d) Neither 1 nor 2 industry should be reduced.
‘ &
XDTG-S-DNK (17-8B)
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Passage - 2

More than half of Indian women and almost

a quarter of Indian men of working age suffer

from anaemia, hmnnling to studies, they are

anywhere from 5 - 15% |egs productive than they
could be, as a result thereof, India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
adequately nourished peers. For an economy that
h‘ﬂ be more dependent on highly skilled
. this poses a significant challenge. And it
is one that really should be addressed given
%’i demographic outlook.

thich one of the following statements best
cts what is implied by the passage ?

Education system must be strengthened

‘in rural areas.

scale and effective

(b)) Large
0 implementation of skill development

programme is the need of the hour.
ﬁ 0 For economic development, health and
i ,.r?'* putrition of only skilled workers needs
" Ay )
<l Jmal attention.

{d)  For rapid economic growth as envisaged
by us, attention should be paid to health
and nutrition of the people.

33. Which one of the following state :

(19-8B)

Passage -8

In India, a majority of ¥
marginal and small, less @€
possess low adaptive capall '
change, perhaps because ﬁl 3
constraints. So, one 6
autonomous adaptation to ¢
Even if it was possible, it
sufficient to offset losses H
change. Te deal with this
climate change is paramour
fast mitigation response. Anoth
to have a planned or
adaptation, which would
government to come up W
recommendations, Perception i8 2
pre-requisite  for adapmﬁnﬂ;
farmers are adapting agricultur _.__
to climate change depends on whel
perceive it or not. However, this isino
enough for adaptation. It is importan
climate change. !

reflects the most logical and ratic
conveyed by the mﬂwdtha EE
(a) Adaptation F.h climate
mitigation response are ba
responsibilities of the governn
(b) Climate change causes a

fe) Risk perceptions

@) Since mitigation is me
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34. Raj has ten pairs of red, nine pairs of white |87.

and eight pairs of black shoes in a box. If he
randomly picks shoes one by one (w nmt
replacement) from the box to get a red pair of
shoes to wear, what is the maximum number
of attempts he has to make ? |
(a)
(h)
ed
(d)

&R E S

95, In how many ways can a batsman scorg
exactly 25 runs by scoring single runs, fours:
‘and sixes only, irrespective of the sequence of|
 scoring shots ?

) 18

(o 20

here are four letters and four envelopes and
stly one letter is to be put in exactly one
envelope with the correct address. If the
letters are randomly inserted into the
envelopes, then consider the following
~ statements -
1. It is possible that exactly one letter goes

into an incorrect envelope. 40.

.?1 There are only six ways in which only
. 4 twulnﬁammgﬂ'imrhemneﬂ
.‘:".{

Vet envelopes.
 Which of the statements given above is/are

(a) 1only

() Zonly ,
(¢) Both1and2 ¥
(d) Neither 1 nor 2 hE

19 ?:

21 L

29
'I'--{c] % N
@ ?ai ]

What is the remainder w
85 » B7 » 89 x 91 » 95 x 96 i8¢

a) 0
by 1
) 2
(d) 4

What is the unit digit in
(57242 &7 '
{a) 2
(b) 4
&0 6
d 8 ‘
If ABC and DEF are both 3

such that A, B, © D, '
distinet  non-zero  digits

ABC + m-:h": 1111, thm

) 259
(b

ﬂmﬂwmm nat
.numbu'mﬂnmdiﬂ digits |
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Directions for the following 3 (three) items -

Read the following three passages and answer the
items that follow the passages. Your answers to thege
items should be based on the passages only.

Passage - 1 ,|

In India, while the unemployment rate is a |
frequently used measure of poor performance of
the economy, under conditions of rising school
and college enrolment, it paints an inaccurate
picture. The reported unemployment rate is
dominated by the experience of younger Indians
who face higher employment challenges and
exhibit greater willingness to wait for the right
job than their older peers. The unemployvment
challenge is greater for people with secondary or
higher education, and rising education levels
inflate unemployment challenges.

——-

12,

41. Which one of the fn!lu-whil statements most
likely reflects as to what the author of the

passage intends to say 7

{a) Enrolment in schools and colleges i=

high but there is no quality education.

{b) Unemployment must be seen a= a
function of rising education and

aspirations of young Indians,

There are no labour-intensive industries
to accommodate the huge number of

unemployed people.

(e}

The education system ahun’hi be properly
designed so as o enable the educated
people Lo be sell-employed.

d)

XDTG-S-DNK (23-8)

‘and life, so the pursuit of p
;&utnmwe bedlam 'A.hgn

‘stience and philosophy "

Passage - 2

“Selence by itsell i:ii nﬂ'
must be a foree and d
sciences (o coordinate I:hcm f
goal. It is not possible to run &0
when the goal itself has nots
placed. What science needs _‘ 1
the analysis of scientific m#
coordination of scientific
results; without this, any =g
superficigl. Government sufl§
like ccience, for lack
Philosophy bears to sciengs
relationship which statesmansii)
politics movement  guided
knowledge and por-npmztwu,
aimless and individual seekin
pursuit of knowledge becomes 8
when divorced from the m:l:ull

e
ies

Which one of the fﬂb'fing
reflecis the most rational, lo

A
()

(b)

Led

Y
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Passage - 3

ABH , 2-digit numt
“The last end of the state is not 1o dominate e

men, nor to restrain them by fear; rather it is g0 AB with CD results in & 34 T
to free each man from fear that he may live and Adding DEF to another <

act with full security and without injury o results in 975, Further A, B, G
himself or his neighbour. The end of the state, | are distinct digits. ITE =0, i‘

repeat, is not to make rational beings into brute |
beasts and machines. It is to enable their bodips
and their minds to function safely. It is to lead =
men to live by, and to exercise, a free reason: that

A+R4C equalto?

by 7
they may not waste their strength in hatred.
anger dnd guile, nor act unfairly toward one {c) 8
another.” @ o ‘Ql
! i
43. Based on the above passage, which one of the | \ |
following terms best expresses the ultimatc| g Goncider the followi
gmlnftham“ _ -?_ @ five culiE
(a) ﬁmm statementsl
(b)  Health of body and mind false.
() ., | harmony True Statement :
(d) Liberty .
o False Statement : At least
44. What is the remainder if 2'% is divided by A
67 T ‘
@ 0 Trww ._
b 1 r -
{c] 2 ‘ Which of h ol [
) i ' drawn ?
1 Atle
45. Consider the sequence 2.
.ABC__AB{L DABBCD_ABCD e
that follows a certain pattern. :
Which one of the following completes the .
sequence ? (&)
(a) DACB (b)
(b) CDAB (e}
() DCCA ()
(dy DDCA
(25-B)
XDTG-S-DNK
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‘&. let P, Q. R, S and T be five
that :
35

statemenig aueh

If P is true, then both Q and S ar
fl. IR and S are true, then T is fuls.

fhich of the following can be concluded »

[[T 18 true, then at least one of p
must be false,

..-' ﬂ'Q is true, then P is true,
Belect the correct answer using the code given

|r|]|.._

FY

and R

) lonly

|l‘ lll]dg
jeither 1 nor 2

- Lﬁm&naiuns Temx5emx3emis

ed. green and blue colour on each

= b

Ppo gite faces of dimensions
ﬁmxﬂr:m.-cmxﬂa.m
Then the cuboid iz eut and
B various cubes each of side
L Which of the

e correct ?

fe exactly 15 small cubes with no
ny face.

exactly 6 small cubes with

two faces, one painted with blue

ther with green.

rrect answer using the code given

following

of . the e
SIBILITIES" are arranéed
e jer, How many
of the letterfletiers will remt

e T,

Directions for the following 4 5

Read the following four passages
it that follow the passages. Your @
items should be based on the pussages o

Pm -

The paradex of choice is ilfatras
m Dr Buﬁm nsE, Jm Bu'
century philos
the inability

to eat, it sta
and innovatio

media can leave little room for s
rest, making decisions more diff
ahout choices, m pmplu-'
with attractive m choices, i

llﬂhﬂpﬂll' and anxious.

Which one of the folk
reflects the most logi

al.

(a)  Modern te

b Modern li
endless di

! We are
others

id!

(27

-B)
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Passage -

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,

nndhﬂptindmiﬂuna can make the
transition between them if necessary.

52. Regarding the financialization of household
savings, which of the following statements
best reflect the selutions that are implied by
the passage ?

L hnmﬁ’ﬁmmmi!mededm

Hmbﬂ_ 1ds need customised solutions,
Innovations in financial technol o
Select the -

: Sorrect answey w&ﬁh‘l& given
(@ land? only

(b) 2and 3 only

€} land3 only

d) 1,2and3

XDTG-S-DNK

Passage - 3

Pharmaceutical patents grant Wﬂ to
the patentee for the duration of the patent posa.
The patentees enjoy the liberty to w the
prices of medicines, which is ﬁmm to the

period of mnnopoly. but mu]d he mmahh to

the public. Such patent protecti to the
patentees is believed to benefit public over
the longer term through innovations and

research and development (R&D), lit.hauﬁ it
comes at a cost, in the nature of higher
the patented medicine. The patent
price protection — through a legally W
high price for the medicine during the ¢urr
the patent — provide the patent
legitimate mechanism to get returns g

incurred in innovation and research.

53. Based on the above passage, |

assumptions have been made :
1. Patent protection given to pate
a huge burden on public's
power in accessing patented o
2. Dependence on other ¢o
pharmaceutical products i«

burden for dev eluhg and poor ¢

8. Providing me%&s o the ¢
Tm;:ln?" a key goal dy
Public ﬂ; mﬁ \
countries, v design §
bulance betwean the
and the requireme i

Which of the hﬁ s

(a) 1 and gr[}

(b) 1andd I;i

i) 3311&4' ‘-'--

(dy 2 lﬁa
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Passage - 4
India should ensure the Browth of the
economy while keeping personal data of titizeny
secure and protected. No one will Innovate
surveillance-oriented environment o N a place
where an individual's personal mformation it
compromised. The ultimate control of daty Musi

in g

should be enabled to use, restrict or monetise ,'-1_

as they wish. Therefore, data Protection gy,

‘should enable the right kind of mnovation — gy,
that is user-centric and privacy protecting,

18 not just a right,

57.

but it has valu; hﬁmnum}.
2. There is a .'.'l al link between
privacy and innovation.
Which of the above assumptions is/are valid ?
(al 1only
(b) 2only
(ed Both1and2
(d) Neither 1 nor 2
: 58.
In an examination, the maximum marks for
each of the four papers uumulyﬁq, R and_E
are 100. Marks scored by the students are in
integers. A student can score 99% in ©
different ways. What is the value of n ?
(a) 16
(b 17
ey 23
d) 35
- XDTG-S-DNK (31-8)

0

Breen and yellow. What is the
different ways in which this ;
that no two adjacent
colour ?

@ 12 90 ,! .
®» 158 ILT;\!:' ﬂ'n._
(e) 24‘? - i “i

@ 36 88

A mm“ﬁﬂir floor measures 4
and 22 m in breadth. Tiles of
60 cm have to be laid such ths ¢
overlap. ﬂt?a can be placed in.
mlumummm ookl
the floor. What is the mas
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'M are hm number of silvip L‘ﬂf.lﬂ
~ weighing 2 gm, 5 gm, 10 gm, 25 gm, Eum
’;uh. Consider the following statemenis

&
To weigh 78 gm using these coins onge ¢
s use less than 7 coins.

Which of the statements given above is/are
.:'-" 1 only
) 2only

)  Both 1and 2

Neither 1 nor 2

sider the following :
A+ B means A is neither gmaller nor

~ equal to B.
A - B means A is not greater than B,

A » B means A is not gmaller than B.

B means A is neither greater nor

i—. Tﬂr b“’ 78 gm of coing one musi bl.l}: “.
least 7 coins, i

e

% ]J_
Directions for the following ’
Read the M three pas

'E{tﬁﬂ_mﬂﬁvated j__l
|pastures, etc) |
‘enables a systi
Tt allows rural and tril
‘themselves for |

A+
qulﬂ-l to B.
A + B means A is neither smaller nor
greater than B. ;
atement : PxQ. P- T T+R, R4S
usion-1: QT
onclusion-2 S+Q .
‘ch one of the following is correct in respe
of the above St.at.emnnt and the C-unclusmnﬂl
(4]
Only Canclusion-1 follows from
tﬂment.
f:l Cﬂncluﬂﬂn-ﬂ follows from the
¥
tm'rlent. : Y
::.h (‘anciuﬂiﬂrn-l and Conclusiat
t
follow from the Statemen Pob.
Neither {:uncluﬁmn*l nor Con
Eu:luws from the Gmtnmeut.
 ONK
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| Passage - 2
m AWAreness on use/misusy and
gfmﬂhlﬂﬂl'.‘! 18 common knowledge, 4

impact of dosing poultry  witl

the environmental impact of :
ptics-manufacturing  companies
their waste has

not.
scarcely been
d at any length or seriousness thus
ar. Pollution from antibiotics factorics is
uelling the rise of drug-resistant infections.
‘ mnmnm of drug-resistant bacteria
the pharma manufacturing

+ one of the following statements best
s the most logical and practical messoxc

e R

Benefits of good
accrue only when students
school after having acquired ¢
Like one learns -J,: walk before
one picks up @

the basic foundgions

63,

el
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. 40 children are atamimg

ﬂnck'“lr.;[_. S a ring. The ring is
ild-1 passes on to child.g,

to child.4, child-4 passes on
on. After how many guch

in iu:hnH chil
d-1) will the ri
and: of child-1 again 9 W b“.*n

1 :
" a aircle and one of

BBEE nn
and B0

A

5. What is the middle term of the sequence

Y YLYL XX XX WWWWW. ..
H

A?

ﬂmﬂﬂ Is p greater than q?

; Mﬂf} p % q is greater than zero.
 Statement-2: p 2 ig greater than ¢°.
muf the following i correct in respect

T .'fhﬂ above Question and the Statements 7
T.IB Question can he answered by using

one of the Gtatements alone, but cannot
k mwered using the other Statement

alone.
The Quest
msmtem‘-‘“

jon can be answered by e

¢ alone.
an be answered by ueng

s together, PV
‘both the smteme:ﬁd using either

67.

'rlj'”:"mu i [ 'p +q -
(p=q+
integers &
"*.f:.l.'-'r.lj--::.t-f L lp-ﬂ? b
-\'fr:.'a-rm-nf-?: ‘F"ﬂh ne W
Which one of the fmin‘ '#I
of the abowve Qunntiﬂﬁ_‘.ﬂ"d '
Al The Question can be :
one of the Statements &
be nnswered using fhe Of
alone,
(b) The Munﬂﬂhﬂﬂm pel ol
cither Statement alone. \
i) The Question S o ans !I
both m Smmh' ¥
cannot be m o3
Statement al*la.
idi The w e
by usm#mm Statemen
In a party, ﬁpmmtmk i
took coffec and 15 pers il
coffee. No one taking " T
person takes at least one dri g .
Quﬂﬁliun: HW w [ : _.---_: L :.
party ? |
Statement-1: 50 persons
Statement-2 : Number
attended
m,lk Wl
Which one of the fallow
of the above Question
(a) The Question &2
one ﬂf th. E’
be answeredd
alone. 2
) The Questior
pither Stad
(] The Q@
hoth ¢
cannot
Statem
@ The Qu
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CORSICET 2 3-digit number,
& .Wﬂ * What ig the
" Statement. ] -

v

number ?

The sum of the
Number is equal ¢
l'.l':| T.-h.F digilﬂ-.

IThlﬁ! ﬂuhlht'r' i

digits of the

0 the 1”"'”|an

WHE—E - :

| Sum pf ; H divisible by the

m Vhich one of 1 the digits of the number,

f ! g q:_:L: I't_'-l Iuwing is correct in respect
“shion and the Statements 7

T8E ?_“Eﬁlilm an be answered by ysi 1
._ . ¥ usir
q of the F:ltalumurlm alone, but ﬂ'lnﬂﬂg

e answered yg; ) I :

#-. + ing the other Statement
The Question cap, b

an be answered i
either Statemen, alone, e
The Question cap be
both the Statements

together, but

w— A __t_; be answered using either
el t alone.
:ﬂ m 1 tiﬂn cannot hu anﬂwerﬁ BEven

g both the Statements together,

Fnrﬁwﬂﬂdmn with agesa < b < ¢ <d<e

any two successive ages differ by 2 vears.

Question : What is the age of the youngest
child 7

-"Mlmt-l ! The age of the eldest is 3 times

' the youngest.

Mﬂﬂl-td The average age of the children

is 8 years.

‘Which one of the following is correct in respect

of the above Question and the Statements ?

(8) The Question can be answered by using

one of the Statements alone, but cannot

be answered using the other Statement

alone. |
The Question can be answered by using
either Statement alone.

The Question can be answered by using
both the Statements Uogether, but
eannot be answered using  either

Statement alone.
The Question cannol be answered even

answeread h:,r ug-j_ng y

Passage
Scientists  studied the

transition perjgd from winter

Epring events @and a mere protra " p
window, This change in the spring tir
ecological, social and economic conses
for agriculture, fisheries and tourise
melts earlier, the birds don't reti u
delay, or lengthening in spri

ivents.

by using both the Statéments together.

(39 -

71. With reference to the *ma the
following assumptions hm‘hn
1. Global warming is causing spring
early and for lnpﬂ_:durgﬁuns.
2 Early spring and Jonge period of sy
is not good for bird populations.
Wh.ld'l ﬂf th& If am:ﬁﬂﬁi - o
correct ? . grers
(a) 1only
by 2only
le) Both lm 2
id) Neither 1 nop 2
B)
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Passage - 2

A global analysis of nitrogen use efficiency —
a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air
Currently, the global average for nitrogen use
efficiency is approximately 04, meaning 40 per

cent of the total nitrogen added to cropland goes

inte the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world's population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
iz left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent
greenhouse and ozone depleting gas, ‘and other
forms of  nitrogen pollution,  including
eutrophication of lakes and rivers and
contamination of river water. e

79. Which one of the following w best
reflects the most logical, rational and crucial
message implied by the passage 2 '

(a) An enhanced efficiency of md’m

is imperative for both food production |

and environment.

Production  of synthetic

fertilizers cannot be stopped as it will
adversely affect global food mu@ty
Alternatives to crops that roqﬂ‘& excess
of nitrogen should be id' and
cultivated. :
Conventional agriculture. using
synthetic fertilizers should be replaced
with agroforestry, a8 Wmn and

(b

(e}

(d)

_ the victims of

Ss not cunﬁned- o & i

73. Which one of the |

arganic farming.

(41-8)

Along with sust®
Justice is regarded as
environmental pnrl.nnf:e.:.
bearings on political and @
nation. So far, in our chn
hoth the "'
gonsensus among nations. Jus 1
gense, is well duﬁned Hﬂi*"", N

¢limate chan

compacts,

socio-political
in the next few
technologies and T¢

adaptation to cli
for loss and dam a ge.

reflects the w hﬂiﬂ]t
message mnvﬂjgﬂ by the pas:

(al
(b
el

id)
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A principal p b
compounded half-yeq
of interest. If {1,

%8 Q. 1081 veur when
rly with R% annual rate

same prineipal P becomes Q

¥

(@) R=§ A IS
b R>S " ﬁ
© R<S§

(d) R<S

3-digit number ending with zero, consider the
following statements : ’4

1. The number of possible values of p#m-ﬁ
2. The number of possible values ur.gii;g.
Which of the above mtammtl is/are correct ?

(a) 1only 1?_._
(b) 2only " | ‘
(¢) Both1and 2 \
(d)  Neither 1 nor 2 ™
! (43-B)

\

What is the sum d
than 2000 formed b

where none of the
TH98
5028
HETH
o218

()
ih)
el

(d)

What s
10 consecutd
circle taken i

a) 3
(h)
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